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1. What is a characteristic of the primary sector? 6. How does the primary sector contribute to the
A. Involves the manufacturing of goods production of milk at AMUL?
B. Direct dependence on nature to produce goods A. Packaging the product
C. Offers banking and IT services B. Transporting to retail shops
D. Provides transportation and retail services  (B) C. Milking cows and supplying raw milk
Explanation: The primary sector includes activities like D. Advertising milk products (@)
agriculture and fishing that directly rely on natural | Explanation: The primary sector is involved in
resources. obtaining the raw product—milk—from cows,
2. Which of the following is an example of a which is later processed.
secondary sector activity? 7. Whatis a direct example of tertiary sector
A. Fishing in the river involvement in the AMUL supply chain?
B. Teaching in a school A. Farming fodder
C. Textile production in a factory B. Churning milk into butter
D. Running a grocery shop © C. Transporting and selling dairy products
Explanation: Secondary sector activities involve D. Refrigerating milk at the farm ©
processing raw materials into finished goods, such | Explanation: The tertiary sector ensures processed
as textiles. goods reach the consumers through transport and
3. What s the role of the tertiary sector in relation retail services.
to the secondary sector? 8. What economic activity includes manufacturing
A. Supplies raw materials cars?
B. Provides services like transportation, banking, A. Primary sector
and communication B. Quinary sector
C. Manufactures goods C. Secondary sector
D. Conducts mining operations (B) D. Tertiary sector ©
Explanation: The tertiary sector supports the Explanation: Car manufacturing involves industrial
secondary sector by providing essential services processes that transform raw materials, which is
such as transport and financial transactions. characteristic of the secondary sector.
4. Which service would a manufacturing unit most 9. Which of these best shows interdependence
likely use from the tertiary sector? among the three sectors?
A. Agriculture A. A student studying economics
B. Mining B. A teacher giving a lecture
C. Banking C. A farmer, dairy factory, and retailer working
D. Weaving © together
Explanation: Banking services are used by D. A bank offering loans ©
manufacturing units for handling payments, credit, | Explanation: This shows how primary (farming),
and other transactions. secondary (processing), and tertiary (selling)
5. What best represents the function of the sectors collaborate.
secondary sector? 10. In the example of AMUL, which step falls under
A. Extraction of raw materials the secondary sector?
B. Providing legal services A. Milking cows
C. Processing raw materials into usable products B. Selling dairy items at stores
D. Conducting surveys © C. Processing milk into butter and cheese
Explanation: The secondary sector transforms raw D. Advertising milk on TV (@)
inputs like milk into processed goods like butter Explanation: Processing the milk into consumable
and cheese. products is the key function of the secondary
sector.
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